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Collection of air in the pleural cavity is called
a) Hydrothorax
¢) Haemothorax

Which one of the following is the most common pathogenic findings in an individual at risk for

sudden cardiac death?
a) Aorticvalve disease
c) Left ventricular dysfunction

a) Congestive cardiac failure
c) Pulmonary edema

b)
d)

b)

Pyothorax
Pneumothorax

Mitral valve disease

d) Atherosclerotic heart diseases
Intra aortic balloon pump therapy is most often used in the management of

b)
d)

Cardiogenic shock
Aortic insufficiency

Which of the following drugs has been suggested for patients with atrial fibrillation?

a) Antihypertensive
c) Antipyretics
Maximum score of Glasgow coma scale is

a) 3

c) 15

Number of lobes in the right lung is

a) 1 b) 2

How many drops in a standard drip set make one ml?
a) 15 b) 30

Pace maker of the heart is

a) SAnode

c) Bundle of His

Which of the following is an isotonic solution?

a) Half normal saline

c) Mannitol

Separation of wound edges at suture line is called

a) Herniation

¢) Wound dehiscence

Which of the following is an objective data?

a) Pain

b) Itching

What is the life threatening complication of fracture?
a) Compartment syndrome

c) Fatembolism

Injury of the upper roots of brachial plexus is known as
a) Facial palsy

c) Bell's paralysis

b)
d)

b)
d)

c)

c)

b)

- d)

b)
d)

b)

d)-

c)
d)

b)
d)

b)
d)

Anticoagulant
Nitroglycerine

10

40

AV node
Purkinge fibers

One third normal saline
Ringer lactate

Wound evisceration
Protrusion

Blood pressure
Anxiety

Infection
Hemorrhage

Erb’s palsy
Klumpke's paralysis

Which of the following food to be avoided by a client with uric acid stone?

a) Rice
c) Fruit

\om

b)
d)

Meat extract
Raw vegetables

d) 4

d) 60
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Which of the following symptoms in a patient receiving warfarin must be reported to the

doctor? :
a) Haematuria b) Constipation c) Dyspnoea d) Hypotension
The procedure that involves insertion of a catheter into the heart and surrounding vessels to
obtain the structure and performance of heart is

a) Angioplasty b) Cardiac catheterization

c) Laserablation d) Cardio version

A framework of nursing care in which different nurses do different aspects of nursing care for a
client is

a) Auxiliary b) Case method

¢) Primary nursing d) Functional nursing

According to Abraham Maslow hierarchy of needs, the top most level of achievement is

a) self esteem b) safety

c) self actualization d) physiological

The transient loss of consciousness related to inadequate cerebral perfusion secondary to
decreased cardiac output is

a) palpation b) pulsus paradoxes
c) paroxysmal nocturnal dyspnoea d) syncope

Which of the following changes seen in ECG indicates hyperkalemia?

a) Twave inversion, appearance of U wave, ST depression

b) Tall T wave, widened QRS complex, prolonged QR interval

c) Shortened ST segment, widened T wave

d) Prolonged ST and QT interval

When a nurse is documenting a nursing activity before it is carried out, it is

a) routine activity b) immediate activities

c) never acceptable d) regular activities
Alzheimer’s day is on

a) May2l b) September 21 c) November 21 d) December 21
The part of body which controls movement, balance, posture and equilibrium is

a) Cerebrum b) Cerebellum c) Mid Brain d) Pons
Which one of the following is the first drug of choice of status epilepticus?

a) Phenytoin b) Phenobarbitone

¢) Lorazepam : d) Carbamazepine

Which of the following methods is adopted for opening the airway in suspected spinal cord
injury?

a) Head tilt method b) Chin lift method

c) Heimlich method d) Jaw thrust method

Which of the following is the non modifiable risk factor of CVA?

a) Smoking b) Hypertension

c) Hereditary d) Alcoholism
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Mr. X has undergone an attack of head injury. At present he is not able to talk but able to
understand everything. Which of the following lobes of the brain is involved?

a) Parietal b) Temporal

c¢) Frontal d) Occipital

A high shrill cry in an infant may be a sign of

a) Early sign of seizure b) After voiding of urine
¢) Normal response d) Increased ICP
World breast feeding week is on’

a) July 1-7 b) August 1-7

c) September 1-7 d) October 1-7
What is the normal protein requirement per day?

a) 100gm/day b) 2gm/kg body wt
c) 10gm/day d) 1gm/kg body wt
The vitamin which is involved in clotting process is

a) A b) K

gj € | d) D

A patient admitted with vomiting has the following arterial blood gas levels- pH 7.30, PaCO2 -36
mm Hg, Pa02 92 mm Hg and HCO3 18 mEq/L. What is the acid base balance that is present?

a) Metabolic acidosis b) Respiratory acidosis

c) Metabolic alkalosis ' d) Respiratory alkalosis

An inflammatory disease that involves degeneration of myelin sheath of peripheral nerves is

a) Myasthenia gravis b) Guillain Barre Syndrome
c) Huntington’s disease d) Multiple Sclerosis

Normal pH of blood is

a) 7.5-7.6 b) 6.35-6.45

c) 6.5-7 d) 7.35-7.45

Informal communication is a term relating to

a) upward communication b) grapevine communication
c) written communication d) oral communication

What is the method for collecting samples for culture and sensitivity from an indwelling urinary
catheter?

a) Pour from the urine bag

b) Aspirate with a sterile syringe and needle

c) Disconnect catheter and collect

d) Recatheterise and take

If the patient accidentally extubates, what is to be done immediately?

a) Watch for signs of respiratory failure

b) Administer humidified oxygen, reassure the patient and observe for normal respiration
c) Keep equipment ready for re-intubation

d) Inform doctor taking primary responsibility
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A nurse is caring for a patient immediately after the removal of endo-tracheal tube. Which
among the following is to be reported immediately?

a) stridor b) occasional pink tinged sputum

c) respiratory rate of 22/mt d) afew basilar lung crackles on the left
Which of the following ventilations is not used in weaning time?

a) SIMV b) Controlled ventilation

c) PSV d) T piece ventilation

What pressure can be used while suctioning a child?

a) 60 mm of Hg b) 120 mm of Hg c) 180 mm of Hg d) 100 mm of Hg
Which among the following is not a component of VAP bundle?

a) Head end elevation b) Peptic ulcer prevention

c) Bed sore prevention d) Deep vein thrombosis prophylaxis
Which finding warrants neuro-imaging before lumbar puncture?

a) Papilledema b) Neck stiffness

c) Respiratory acidosis d) Areflexia

The misconduct or practice that is below the standard expected is

a) tort b) crime c) negligence d) felony
The effectiveness of nurse-patient communication is best evaluated by

a) medical assessment b) patient feed back

c) patient’s physiologic adaptations d) health team conferences
Thrombolytic agent for acute stroke is

a) Recombinant tissue plasminogen activator
b) Tranexamic acid

c) Heparin

d) Streptokinase

Bed strength of SCTIMST is

a) 239 b) 240 c) 253 d) 260
The term used to interpret auditing of past event is

a) concurrent auditing b) terminal auditing

c) internal auditing d) retrospective auditing

When performing cardiac compression on an adult client, the nurse is aware that it is essential
to exert vertical downward pressure, which depresses, the lower sternum at least

a) % to%inch b) 1%to 2 inches c) % tolinch d) 1to %inches
The most effective precaution for the prevention of myasthenic and cholinergic crisesis ______
a) taking medications on time

b) eating large and well balanced meals

c) doing muscle strengthening exercises

d) doing all work early in the day

The period of retention for medico legal records is

a) 10years b) 20 years

c) till the legal settlement d) permanentl
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